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Set0l Answers for No.9594

) “Zre_"f{;;lé}w} nd N B)y=4  n(d U B)=7
Ansl =| 1= “ezre;3_‘{3‘ 4y p2E|nU-BI=T a(U-(4 U B))=5
aread={1,7,8,9, 12} n(B-4)=2 Math@MUT
areal =2{i1,{89,}15} n(4 N B)=1 n(4 U B)=38
Ans2=| .1 = areas= L 2=| n(4-B)=3 n(U-(4 U B))=7

area3 = {5,11,13,16}

aread = {6,7,10, 12, 14,17, 18} n(B-A)=4 Math@MUT
[ areal = { } ] ]
areal = {8} n(intersect(4, B, C)) =0 n(4d-B)=3
area3 ={2,9,12,13, 14} n(union(4, B, C)) =12 n(B-4)=6
Ans3—| 1= aread = {4,7, 11} P n(4d N B)=1 n(C N (4 v B)=4
' area5=1{ } o nB N C)=1 n(Cu (4 n B))=7
area6 = {10} n4d v C)=7 n(intersect(4, B, C)/) =15
area7 = {6,15} n(B U C)=12 Math@MUT
L area8={1,3,5} ]
(4 U B=1{3,4,5,6,8,10,11,12,13} | r 1=(4 A B={area2}) 7
4 N B={5610} 2=(A-B={areal})
4V B={4,5,678,910} 3=(4 N B'={aread})
B A={311,12,13} A4=(B n C={area5, area6})
Ansd = A-B=1{4,8} . Ans5 = S5=(C n (A v B)={aread, area5, area6})
B-A= {7,9} 6=((4 N C) v (B n C)={aread, area’, areab })
(4 v B)’:{7,9} 7=((A4-B) U (A-C)={areal, areal, area4})
A N B = (7,9} .8=(A’ U C= {areal, area2, area3, area6, area7, area8})
(41— B)=13,5,6,7,9,10, 11, 12,13} | i 9=(4 ~ (C-B) = {area3, areab, area8 }) |
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Set0l Answers for No.9608

areal = {4,5,8, 11}

area2 = {9} n(4d N B)=1 n(d U B)=7

Ansl =| .1 = 2= n(4-B)=4 n(U-(4 U B))=5
area3 = {14,15} _
aread = (6,7, 10, 12, 13} n(B-4)=2 Math@MUT
“Ve‘”;flfl’;}” n(d N B)=1  n(4du B)=7
Ans2=| 1= areas = 2= n(4-B)=2 n(U-(4 U B))=8

area3 ={5,6,12, 14}

aread = {3,4,7,8,9, 10, 11, 15} n(B-4)=4 Math@MUT
i areal = {5,7,9} i i
area2 = {11} n(intersect(4, B, C)) =0 n(4-B)=3
area3 = {3,4,10,16} n(union(4, B, C)) =11 n(B-4)=5
aread = { } n(4d N B)=1 n(C N (4 U B))=1
Ans3 =| .1 = ,.2=
area’ = { } n(B nC)=1 n(C U (4 N B))=4
area6 = {2} nd u C)=7 n(intersect(4, B, C)) =15
area7 = {6, 8} n(Bu C)=8 Math@MUT
L Larea8 = {12, 13, 14, 15} | i
4w B={3,56,10,11,12,13} i =(A'= {area3, aread })
, 4N B={3,610} 2=(B —A'={areal })
4 v B={23,4, 5”6’ 7,8,9,10,12,13} 3=((A4 N B) = {areal, area3, aread})
B nA4={11} 4=(B n C={areal, area6})
Ansd = A-B={5,12,13} , Ans5 = 5=(C U (A4 N B)={area2, area4, area’, area6, area7})
B-A= {2,4,7,8,9} O6=((4 v C) n (B vy C)={area2, aread, areas, areab, area?7 })
(4 v B)’: {2,4,7,8,9} 7=((A4-B) U (A-C)={areal, area2, aread })
A4 N B= {2,4,7,8,9} .8=(A' U B'= {areal, area3, area4, areab, area7, areas })
| (4-B)=1{2,3,4,6,7,8,9,10,11} | L 9=((C—B) —A = {areal, area2, area5}) ]
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Set0l Answers for No.9646

areal = {5,6,9,15}

areaz= {10, 13} n(4 N B)=2  n(4 U B)=9

Ansl =| .1 = ,.2=| n(Ad-B)=4 n(U-(4 U B))=3
“rjf:a . i 1{14;’172,’ ;? J n(B-A4)=3 Math@MUT
areal = {5, 7, 12} n(4 A B)=1  n(4 U B)=9
Ans2 =| 1= areal = {8} 2= n(4-B)=3 n(U-(4 U B))=4
area3 = {4,9,10, 15,16} n(B-A)=5 Math@MUT
aread4 = {6, 11,13, 14}
[ areal = {4, 18,20} ] ]
area? = {15} n(intersect(4, B, C)) =1 n(4d-B)=3
area3 =1{7,9,19} n(union(4, B, C)) =11 n(B-—A4)=4
ns3=| 17— aread = { } P n(4d N B)=2 n(C N ((4uvB))=2
' area5 = {17} - nB N C)=2 n(C U (4 N B))=5
area6 = {10} n(4 U C)=38 n(intersect(4, B, C)) =18
area7 = {13, 14} n(Bu C)=8 Math@MUT
L Larea8 ={2,3,5,6,8,11,12,16} ] ]
A U B={3,6,7,10,11,12,13} [ 1= (A = {area3, aread }) 7
, 4N B=13; 2=(B-A={area3})
Av B={2,3,456,7,8,9,10,13,14,15} 3=(A-B) n (B-A)={1})
Bnd= {11,12} .4:(A’: {area3, areab, area7, area8 })
Ans4 = A-B=1{6,7,10,13} , Ans5 = S=(B v (4 n C)={area2, area3, aread, areal, area6 })
B—4= {2,4,5,8,9,14,15} 6=((4 v B) n (B v C)={area2, area3, aread, area’s, area6 })
(4 U B)=1{2,4,5,8,9,14,15} 7=((A-B) n (A-C)={areal })
A N B=1{24,5809,1415} 8=(B N C={areal, area8})
L (A—B)':{2, 3,4,5,8,9,11,12,14,15} | L 9=(C n (A—B)/:{area5,area6,area7}) |
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Set0l Answers for No.9649
areal = {2,3,6,11} 24 A B)=2 n(4 U B)=8
Ansl =| 1= Z;ZZ?:? }gi 2= n(4-B)=4 n(U-(4 U B))=5
aread = {4,5,9, 13, 14} n(B-4)=2 Math@MUT
areal = {5, 10} n(d N B)=2  n(4 U B)=5
Ans2 =| 1= “;f:j;_{;l’zg}} 2= n(4-B)=2 n(U-(4 U B))=7
aread = {4,6,7,8, 11,13, 14} n(B-4)=1 Math@MUT
i areal = {3} ) |
area2 =1{7,9,10} n(intersect(A4, B, C))=0 n(d-B)=2
area3 = {2,12} n(union(4, B, C))=13 n(B-A4)=3
Ansie| 12 aread = {8} . n(4d N B)=3 n(C N (4 v B))=2
area5=1{ i nB N C)=1 n(C U (4 N B))=10
areab = {5} n(4 u C)=11 n(intersect(4, B, C)) =16
area7 =1{0,1,4,11, 14} n(B v C)=12 Math@MUT
L area8=1{6,13,15} i
4w B={0,1,4,56,7,10} [ .1=(B':{area],area4}) |
A/ N B=1{0,4,5,10} .2=(A'—B={area4})
AUB:{0,2,§,4,5,7,8,9,10} .3:(/4,(\3':{&1}’6614})
B nA={1,6} 4=(B v C={area2, area3, aread, area’, areab, area?7})
Ans4 = A-B={7} , Ans5 = S=(B v (4 n C)={area, area3, aread, areas, area6 })
B-A= {2,3,8,9} 6=((4 v B) n (B v C)={areal, area3, aread, area’, areab })
(4 U B)=1{2,3,8,9} 7=((B-4) n (B=C)={area3})
A N B={23,809} 8=(C —4'={areal, areal})
_(A—B)':{0,1,2, 3,4,5,6,8,9,10} ] L .9=(B’ N (A—C)rz{area4, area7, aread8 }) |
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Set0l Answers for No.9669

[Page = 0005]

Ans4 =

areal = {4, 7,9} (4 ~ B)=0  n(4 U B)=8
Ansl =| 1= area2 ={ } 2= n(4-B)=3 n(U-(4 U B))=5
area3={1,3,6,10,13} n(B-A)=5 Math@MUT
L Laread4 = {2,5,8, 11,12} - ]
areal zz{f’ 76’ 10} (4 A B)=1  n(4 U B)=6
Ans2=| .1 = are“g“: {‘1{1 1}4} L 2=| n(4-B)=3 n(U-(4 U B))=5
| lareas=15,8,9,12,133] LnB-A)=2 Math@MUT 1|
[ areal = {5} i i
area? = {2,13} n(intersect(4, B, C)) =1 n(4d-B)=2
area3 = {6,12} n(union(4, B, C))=9 n(B-4)=3
ansi<| 12 aread = {0} . n(4d N B)=3 n(C N (4 VU B)=3
' areas = {10} . n(B N C)=2 n(Cu (4 n B))=6
area6= {7} nd v C)=7 n(intersect(4, B, C) )= 13
area7 = {9} n(Bu C)=8 Math@MUT
L Larea8 = {1,3,4,8,11}] ]
4w B={3,56,7812} 1 =(A v B={areal, area2, area3})
AN B={5T7} 2=(A'-B={aread})
4w B={l, 27 4,5,7,8,9,10, 11} 3=0(4 n B) = {areal, area3, area4 })
B nA4=1{3612} 4=(4 n C={area4, aread})
A4-B={8} , Ans5 = S=(C n (A4 v B)={aread, areal, area6})

B -A4=1{1,2,4,9,10,11}
(4 U B)=1{1,2,4,9,10,11}
A N B={1,2,4,91011}

[(A-B)=1{1,2,3,4,5,6,7,9,10,11, 12}

6=((4 n C) u (B n C)={aread, areas, area6})
7=((A4-B) n (A-C)={areal })
.8:(C,—A’={areal, areal })
L 9=((B-C) — A= {areab, area’, area8 })
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Set0l Answers for No.9717

areal = {4,5,7}

X

rea— 12111 n(4d ~ B)=2  n(4d U B)=9
Ansl =| .1 = are(;;f {; 010,12 p2=| MA=BI=3 n(U=(4 L B))=2
wread— (3.6} n(B-A)=4 Math@MUT
“’ealzi{{7f08}} n(4 A B)=1  n(4 U B)=6
Ans2=| .1 = are‘:;f {‘5 315y [ 2| rA-B)=2 (U= U B)=6
aread = {4,6,9, 11,12, 14} n(B-4)=3 Math@MuT
i areal = {2,8} ) i
area? = {4,12} n(intersect(4, B, C))=0 n(4A-B)=4
area3 = {16} n(union(4, B, C)) =12 n(B-4)=1
| g areat={5113 5. n(4 N B)=2 n(C (4 U B))=2
3= areas=1{ } 4= n(B N C)=0 n(C U (4 A B)=9
areab = { } n(4 u C)=11 n(intersect(4, B, C)) =16
area7 =1{3,6,7,10,17} n(B v C)=10 Math@MUT
L L area8 =19, 13, 14,15} | i
4V B={3,57,812,13,14,15} | | 1 =(B={areal, aread}) 1
- 4 n B={1315} 2=(B'-4'={areal })
AV B=1{2,4,6,8,9,10,11,13,14,15} 3=((4 v B)’= {aread})
B nA=135712} ,4=(A’= {area3, areab, area7, area8 })
Ansd = A-B={8,14} , Ans5 = S=(B U (4 n C)={area2, area3, aread, areas, area6 })

[Page 0006]

B —-A=1{2,4,6,9,10,11}
(4 U B)=1{2,4,6,9,10,11}
A4 N B={2,4691011}

(4-B)=1{2,3,4,5,6,7,9,10, 11, 12,13, 15}

6=((4 v B) n (B v C)={areal, area3, area4, area’, area6 })
7=((C—-4) n (C—-B)={area7})
8= (A' U B= {areal, area3, area4, areab, area7, area8})
9= (C’ N (4 —B)’= {area2, area3, area8})
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Set0l Answers for No.9763

Ans4 =

[Page 0007]

“rer“I;_{{z’lg}} n(d N B)=1  n(4uU B)=7
Ansl=| .1 = areagfa{0_6 § 10y 27| MA-B)=2 n(U=(4 L B)=4
aread = {3,4,5, 7} n(B-A)=4 Math@MUT
areal = {‘;f’{g’}g’ 10} n(4 A B)=0  n(4 U B)=8
Ans2=| 1= area‘?e_"{gm 15y p2=|pA-B)=5 n(U-(4 U B)=5
aread = {7, 11,12, 13, 16} n(B-4)=3 Math@MuT
[ areal = {3,5} ] ]
area2 = {10} n(intersect(4, B, C)) =0 n(4A-B)=5
area3 = {8,9} n(union(4, B, C)) = 12 n(B-A)=4
Ans3=| 1 aread = {4,12,15} P n(4d N B)=1 n(C N (4 v B))=5
3= areas=1{ } e = n(B N C)=2 n(C U (4 A B))=8
area6 = {6, 16} n4 v C)=10 n(intersect(4, B, C) )= 16
area7 = {11,17} n(Bu C)=10 Math@MUT
L Larea8 = {7, 13, 14, 18 } | i
AU B=1{4,789,11,12,14,16} | i 1=(4 N B={area2})
’ AN B={} .2:(B’—A:{area4})
AU B'={3,56710,12, 13,1516} 3=(4' N B ={aread})
BmA’:{45859511a 14} 4=(B n C={areas, areab})
A-B={7,12,16} , AnsS = S=(C v (4 N B)={area2, area4, area’, areab, area?7})

B —4=1{3,5,6,10, 13,15}
(4 U B)=1{3,5,6,10,13,15}
A N B'={3,5,6,10,13,15}

[(A-B)=13,4,5,6,8,9,10,11, 13, 14, 15} ]

6=((4 v C) n (B U C)={area2, area4, areal, areab, area7 })
7=((C—-4) v (C-B)={aread, areab, area? })
8= (A’— C= {areab, area7 })
9= ((C—B)’—A = {area3, areab, area8 })

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢
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Set0l Answers for No.9877

”re‘”:{;’_gj{;l}’ 12} ndnB)=1 nduUB)=8
Ansl =| 1= areaz = 2= n(4-B)=4 n(U-(4 U B))=4

area3 ={4,9,10} _
L laread = (5,6, 13, 14} n(B-4)=3 Math@MUT

areal = {12}
area? ={3,6}
area3=1{4,7,9,11,17}

n(d N B)=2  n(4 U B)=8

Ans2=| 1= 2= n(4-B)=1 n(U-(4 U B))=1

Laread = {5, 8,10, 13, 14, 15, 16} n(B-4)=3 Math@MUT
[ areal = {1,4,7,10} | T
area2 = {11} n(intersect(4, B, C)) =0 n(4-B)=5
area3 ={ } n(union(4, B, C))=9 n(B-4)=2
nsi=| 1= aread = {14} e n(4 N B)=1 n(C N (4 v B)=3
area’ = { } ’ n(B N C)=2 n(Cu (4 nB))=5
area6 = {8,9} n(d4 U C)=9 n(intersect(4, B, C)) = 15
area7 = {13} n(Bu C)=5 Math@MUT
L Larea8 ={0,2,3,5,6,12} ] ]
4 B=13,4,5,6,8,9,11,13; v :(B’: {areal, area4})
/AmB:{5,13} 2=(A-B={areal })
A v B={3,57,10,12,13, 14} 43:((AUB)':{area4})
Bnd= {4,6,8,9, 11} 4=(B v C={area2, area3, aread, areal, area6, area7})
Ansd = A-B={3} , Ans5 = S5=(A4 n (B U C)={area2, aread, area5})
B -A= {7,10, 12, 14} 6=((4 N B) U (4 n C)={areal, aread, area’5 })
(4 U B)=1{7,10,12, 14} 7=((B-4) n (B-C)={areal3})
A~ B'=1{7,10,12, 14} 8=(C -4 ={areal, area2})
_(A—B)':{4, 5,6,7,8,9,10,11,12,13, 14} L .9:((C—B)’—A:{area3, areab, area8 }) |
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Set0l Answers for No.9911

r“r;‘f{:s{;” n(4 N B)=3  n(4 U B)=6
Ansl=| .1 = ;’r;"3_‘{1’4’10} ,.2=| n(4-B)=0 n(U-(4 U B))=6
aread = 10,2,3,8,9, 11} n(B-4)=3 Math@MUT
oy WA Bl O B)-6
Ans2=| .1 = afer:‘;_‘” 1 2= n(4-B)=3 n(U-(4 U B))=9
L larea4=1{1,2,4,6,8,9, 12, 14, 15} nB-4)=2 Math@MUT 1|
i i areal = {6, 8} i ]
area2 = {7,15} n(intersect(4, B, C)) =0 n(4A-B)=4
area3=1{ } n(union(4, B, C)) =11 n(B-A)=2
sz | | areat=159% | _ n(d N B)=2 n(C (4 U B))=4
ol area5=1{%} [ n(B N C)=2 n(C U (4 N B))=9
area6 = {3, 11} n(d4d v C)=11 n(intersect(4, B, C)) = 13
area7 = {4, 10, 14} n(B v C)=9 Math@MUT
L L area8={12,13} | J
4 v B=1{57,89,10,11,13, 14} [ 1=(A v B={areal, area2, area3})
) 4N B={8 14} 2=(B -A4'={areal})
AU B=1{346172809101213, 14}

3=((A4=-B) n (B-A)=1})
4=(4 v C={areal, area2, area4, areal, area6, area?7 })
S=(B n (4 v C)={area2, areal, areab})
6=((4 N B) U (B n C)={areal, areas, areab })
7=((A-B) n (A-C)={areal})
A~ B'=(3,4,6,12} .8=(B - C ={area4, area7 })
Ll (4-B)=1{3,4,5,6,8,11,12, 14} L 9=((C-A4) - B={areal, aread, area8 }) _
DIO00:00:00:0:0:0:0:0:0:0:0:0:0/0.0:0:0.0:0:0:0.0:0:0:0.0.0:0:0.0.00:0:0.0'0.0:0.0.0:0.0.0.0:00:0.0.0.0:0:0.00:0.0.0.0:0.0.0:0:0:0.0.0:0:0.0'0.0:0.0.0.0.0:0.0.0:0:0.0.00:0.0.0'0:0:0.0.0.0:0.0.0:0:0.0.0'00:0.0.0:0:0.0'0.0:0.0.0.0:0.0:0:0:0.0.0'0:0:0'0'0:0:0.0:

B A={511}

Ansd = A-B=1{7,9,10,13}
B —A=1{3,4,6,12}

(AU B)=1{3,4,6,12}

, Ans5 =
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Set0l1 Answers for No.10027
”realr:y_’?f;’}lz} nd N B)=2  n(4 U B)=9
Ansl =| 1= ar:aja_ {‘3 1013 [2=| nA=B)=4 n(U-(4 U B))=4
aread = 12,5,7,8) n(B-4)=3 Math@MUT
maéjg’ igi n(4 N B)=2  n(4d U B)=5
Ans2=| 1= “’;fea;_{’g} ,2=| n(4-B)=2 n(U-(4 U B))=10
aread = {3,4,6,8,11,12,13, 14, 15,17} n(B-4)=1 Math@MUT
[ [areal ={9,12, 14,15} | |
area? = { } n(intersect(4, B, C)) =0 n(4-B)=5
area3 = {11} n(union(4, B, C)) =12 n(B-A4)=6
T aread = {4} 5 n(4 N B)=0 n(Cn(4U B)=6
mI= AT areas=1{ } 4= n(B N C)=5 n(C U (4 N B))=7
area6 =1{2,3,7,8,13} nd v C)=11 n(intersect(4, B, C)) = 14
area7 = {6} n(Bu C)=8 Math@MUT
area8={5,10} ]

1 [ A=(4 v B={areal,area2, area3})

[ A U B=1{3,509,10,15}
’ A N B={3,9,10} 2=(B—-A={area3})
A v B=1{2,3,45,6,7,89,10,11,12,13, 14,15} 3=((4 U B) = {aread})
BnAd={} 4=(A N B={area2,area’})
Ans4 = A-B={515} , Ans5 = S=(4 v (B n C)={areal, areal, area4, area5, area6 })
B-A= {2,4,6,7,8,11,12,13, 14} 6=((4 U B) nn (4 v C)={areal, area, area4, area’, area6 })
(4 U B)=1{2,4,6,7,8,11,12, 13, 14} 7=((B-4) n (B-C)={area3})
A A B=1{24678,11, 12,13, 14} §=(4 N B'={area7, area8})
L 9=((B—-4) - C={areal, area2, area8}) i

L (4-B)=1{2,3,4,6,7,8,9,10,11, 12,13, 14}
PO 00000:000:000000000000 0000 000000000000000000000000 0000000000000 0000000000000 0000000 00000 0S OISO PSS 0000006006000 00
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Set0l Answers for No.10063

areal = {8,9,13}

areaz= {5, 12} n(4 n B)=2  n(4 U B)=9

Ansl =| .1 = ,.2=| n(4-B)=3 n(U-(4 U B))=2
‘"”“Z e‘aji’ {7’3’12’}1 1} n(B-A)=4 Math@MUT
“Zref’]g{lz}m n(4 N B)=3 n(du B)=7
Ans2=| 1= 2:22319’12’17§ L 2=| n(4-B)=1 n(U-(4 U B))=8
aread = {3,4,5,8,10, 13, 14,15} n(B-4)=3 Math@MUT
[ areal = {1,2,11,12} ] ]
area? = { } n(intersect(4, B, C)) =0 n(4A-B)=4
area3 = {0, 6, 8,13, 18} n(union(4, B, C)) =12 n(B-4)=6
ns3=| 17— aread = { } e n(4d N B)=0 n(CnNn((4uvB))=1
area’ = { } i nB N C)=1 n(Cu (4 nB))=3
area6 = {10} n4du C)=7 n(intersect(4, B, C)) =19
area7 = {5,16} n(Bu C)=8 Math@MUT
L Larea8 = {3,4,7,9, 14,15, 17} J
4w B=1{3,7,10,11, 12,13} .]=(A'={area3,area4})
, 4 n B={12} 2=(B-A={area3})
4w B={0,1,2,4,56,7,8,9,10,11, 12} 3=(4 N B'={aread})
B A={313} 4=(B n C={area5, areab })
Ans4 = A-=B=1{7,10,11} , AnsS = S=(A4 n (B v C)={areal, aread, area’})
B —A= {0,1,2,4,5,6,8,9} 6=((4 N B) U (4 n C)={area2, aread, area’ })
(4 v B)':{O, 1,2,4,5,6,8,9} 7=((C—-4) v (C-B)={aread, areab, area7 })
A N B= {0,1,2,4,5,6,8,9} .8=(B’— C= {aread, area7})
L (4 —B)': {0,1,2,3,4,5,6,8,9,12,13} | L .9:(C/ N (A—B)’: {area2, area3, area8}) i
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Set0l Answers for No.10367

areal :r{éj_’{libl}z’ 14} n(4 A B)=1  n(4 U B)=8
Ansl =| 1= ;;‘;:H $) 2=| n(4-B)=5 n(U-(4 U B))=3
areat— (5,9, 13} nB-4)=2 Math@MUT ]|
area]:{é;il{,l}4,15} n(A A B)=0 (A U B)=9
Ans2=| 1= areaji”{e;’ S8 10 16} 2=l n(4-B)=4 n(U-(4 U B))=6
aread =1{5,6,9,12, 13,17} n(B-4)=5 Math@MuT
[ areal = {1, 8} ) i
areal = {2} n(intersect(4, B, C))=0 n(4d-B)=5
area3 =1{3,4,9, 10,12} n(union(4, B, C)) =13 n(B-A4)=6
sz | 1 aread = {6,7, 13} ,_ n(d n B)=1 n(C N (4 U B))=4
ol areas={ } T n(B N C)=1 n(C U (4 N B))=6
area6 = {11} n(d v C)=8 n(intersect(4, B, C)) = 14
area7 = {0} n(Bu C)=11 Math@MUT
L area8= {5} | ]

Ans4 =
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[ 40U B=1{1,2,3,4,6,10,11,12}

AU B'=1{1,23,56,7,891011}

AN B={3}

B A={412}
A-B=1{1,2,6,10,11} 4
B -A4=1{57,8,9}

(4 U B)=1{57,8,9}
A N B'={517,8,9}
(4-B)={3,4,5,7,8,9,12} |

A= (A,= {area3, area4})
2=(A' - B'={area3})
3=0(4 n B) = {areal, area3, area4})
4= (B’= {areal, area4, area7, area8 })
S=(B N (4 v C)={area2, area’, areab })
6=((4 N B) U (B N C)={areal, areas, areab })
7=((A-B) U (A-C)={areal, area2, aread })
8=(4-C= {areab, area?7})
9= ((B—A),— C= {aread, area$5, area7})

nsd =

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢
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Set0l Answers for No.10372

areal = {6, 15}

area2 = {10} n(4 N B)=1  n4duvB)=7

Ansl =\ .1= area3 = {7.8,9.12) ,.2 = Egg:iiii H(UA—/[C(l;;IZ@UMl(?]);:6
aread4 = {4,5,11,13, 14,16}
areal = {6,9, 14, 15,16} nA ~ B)=2 n(A U B)=9
Ans2 =| 1= ZZZZ:Z gi 2= n(4-B)=5 n(U-(4 U B))=5
aread = 4,5, 8,10, 12} n(B-4)=2 Math@MUT
[ areal = {2,10} i |
area? ={9,16} n(intersect(4, B, C))=0 n(4d-B)=3
area3={1,3,4,7} n(union(4, B, C)) =11 n(B-A4)=4
ansi<| 1< aread = {6} . n(d N B)=2 n(C N (4 U B))=1
area’ = { } ’ n(B N C)=0 n(C U (4 N B))=5
area6 = { } nd u C)=7 n(intersect(4, B, C)) =16
area7 = {8, 14} n(Bu C)=9 Math@MUT
L Larea8 = {5, 11,12, 13, 15} ]
(4 U B=1{2,3,4,56,8,9,10,11} [ 1=(B = {areal, aread}) i
A/ﬁ B=1{3,4,5,10} .2:(A,—B:{area4})
AUB:{l,’3,4,5,6,7,9,10} .3:(14'03':{6".6614})
B nA4={23811} .4=(C’= {areal, area2, area3, area8 })
Ansd = A-B=16,9; , Ans5 = S=(B v (4 n C)={areal, area3, area4, area’s, area6 })
B-A= {17} 6=((4 v B) n (B v C)={area2, area3, area4, area’, area6 })
(4 U B)={1,7} 7=((A-=B) N (A-C)={areal })
A N B={1,7} 8=(C - B = {area2, area3})
[(A-B)=1{1,2,3,4,5,7,8,10, 11} L 9=(B N (C-A) = {areal, aread, area8}) i
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Set0l Answers for No.10375

areal ={4,7,8; n(4 N B)=1  n(4uU B)=6
dnsl=| 1= arz;z"i?g’zl}jj} 22| n(4-B)=3 n(U-(4 U B))=6
aread = {5,6,9, 10, 11, 14} n(B-4)=2 Math@MUT |
“Ve"lzz{fs’gl}g} n(4 A B)=1  n(4 U B)=9
Ans2=| .1 = area3={a7r,elal,_12{, 116,17} 25| MA-B)=2 n(U=(4 U B))=6
aread = {4,5,6,9,10, 13 } n(B-4)=6 Math@MUT
[ [areal ={8,9,10,11, 17,18} ] )
area? = { } n(intersect(4, B, C))=0 n(4-B)=7
area3 = {13} n(union(4, B, C)) = 12 n(B-A4)=3
Ans3=| 1= aread = {19} Sz n(4d N B)=0 n(C n (4 v B))=3
areas = { } ’ n(B N C)=2 n(Cu (4 N B))=5
area6 = {15,16} n(4 v C)=11 n(intersect(A4, B, C)'): 18
area7 = {6, 14} n(Bu C)=6 Math@MUT
L L area8=1{2,3,4,5,7,12} | i
AU B={2,4,56,7,11,12,14} r = (A = {area3. areat})
, 4 N B={12} 2=(A-B={areal })
AV B={2,3,506,80910,11,12,13} 3=((A4-B) N (B-4)={1})
B A=1{4,7,14} 4=(B n C={area5, area6})
Ans4 = A-B=1{2,5,6,11} , AnsS = S5=(C n (A v B)={aread, area5, area6})

B —A4=1{3,8,9,10,13}
(4 U B)=1{3,8,9,10,13}
A~ B={38091013}

L (A—B)': {3,4,7,8,9,10,12, 13,14} |

[Page 0014]

6=((4 N C) v (B n C)={aread, area’, areab })
7=((C—-4) n (C-B)={area7})
8= (C’—Brz {area2, area3})
.9=((C—A)/—B={area1, aread, area8 })
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Set0l Answers for No.10426

“rer“;_{{z}?} nd nB)y=1 n(duU B)=6

Ansl =| 1= ar:aja_ {‘1 34y 2= pA-B)=2 n(U-(4 U B)=5
aread = {0,5,8,9, 10} nB-4)=3 Math@MUT
“’6“12:7{5’6‘;} n(d nB)=1 n(4uU B)=8

Ans2=| .1 = areas = 2= n(4-B)=2 n(U-(4 U B))=5

area3=1{2,5,9,10, 11} [~

aread = 10,1,7,8, 12} n(B-A4)=5 Math@MUT
[ [areal={1,4,8,12,13}] )
area? = {3} n(intersect(4, B, C))=0 n(A-B)=6
area3 = {5,6,15} n(union(4, B, C)) =12 n(B-4)=3
ns3=| 1 aread = {2} . n(4d N B)=1 n(C N (4uvB))=1
area’ = { } i n(B N C)=0 n(Cu (4 nB))=4
areab = { } n(4d v C)=9 n(intersect(4, B, C)) =16
area7 = {11,16} n(B v C)=7 Math@MUT
L L area8=1{7,9,10, 14} | ]
[ A v B=1{4,57,8,10,11,12, 14} ] i 1 =(A U B={areal, area2, area3})
, 4 N B={10,11} 2=(B'-A={aread?)
Av B={1,2,3,4,6,7,8,9,10, 11,12, 13, 14} 3=((4 U B) ={aread})
BnA= 15} 4= (B’= {areal, area4, area7, area8 })
Ansd = A-B=1{4,7,8,12,14} , Ans5 = 5=(C n (A U B)={aread, area5, areab})
B —A= {1,2,3,6,9,13} O6=((4 N C) v (B n C)={aread, areal, areab })
(4 U B)=1{1,2,3,6,9,13} 7=((A-=B) n (A-C)={areal })
A4 N B= {1,2,3,6,9,13} 8=(B U C= {areal, area2, area3, area4, area7, area8})
L (A—B),={1,2, 3,5,6,9,10, 11,13} ] L 9=(C n (A—B)rz{area5, areab, area?7}) |
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Set0l Answers for No.10628

fregl_:{{;g} n(d A B)=2  n(4 U B)=5
Ansl =| .1 = a“r;“3_‘{7’11} ,2=| n(4-B)=1 n(U-(4 U B))=7
aread=1{1,4,5,6,8,10,12} n(B-4)=2 Math@MUT
area]:{3,62,z,{151£12, 15} nA ~ B)=1 n(A U B)=11
Ans2=| 1= area.?ar—e?S_9 10,14y [2=| nA=B)=6 n(U-(4 U B)=3
areat - {4, 13, 16} n(B-A)=4 Math@MUT
i areal = {5, 15} i 1
area? = { } n(intersect(4, B, C)) =0 n(4-B)=3
area3 = {10, 11, 14} n(union(4, B, C)) = 10 n(B-A)=4
sl 1 aread = {8} S n(d N B)=0 n(C A (4 U B))=2
mI= A areaS=1{ } Pl = n(B A C)=1 n(C U (4 N B))=5
area6 = {9} ndu C)=7 n(intersect(4, B, C)) =17
area7 ={2,7,13} n(B U C)=8 Math@MUT
L Larea8 = {0, 1,3,4,6,12,16} | ]

[ 4 U B= {1,2,3,7,9,10, 11, 12, 13} ] [ 1 =(A v B={areal, area2, area3})

4N B={3} 2=(A'-B={area3})
4V B = {3,4,5,6,8,10,12} .3=(A' U B'= {areal, area3, area4 })
B nA4={1,2791113} .4=(A’= {area3, areab, area7, areal8 })
Ans4 = 4-B=1{10,12} , Ans5 = S=(B N (4 v C)={area2, area5, areab})
B-A= {4,5,6,8} O6=((4 N B) U (B N C)={areal, area’, areab})

7=((B-4) n (B-C)={area3})
A N B=1{4,5628} .8=(B - C = {aread, area7})

L(A-B)=1{1,2,3,4,5,6,7,8,9,11, 13 }] L 9=(4 n (B-C) ={areal, aread, area5 }) ]
O0:0:0:0:0:0:0:0.0.0:0:0.0:0:0.0:0:0:0:0:0:0:0.0.:0:0.0.:0:0.0.0:0.0:0:0:0:0.0:0:0.0:0:0.0:0:0.0.0:0:0.0.0:0:0.0.0:0.0.0:0.0:0:0.0:0.0:0:0:0:0:0.0:0:0:0.0:0:0.:0.0:0:0.0.0:0.0.0:0.0.0:0.0:0.0:0:0.0:0:0.0:0:0.0:0:0.0.0.0:0:0.0.0:0.0.0.0.0.:0.0:0:0:0:0:0.0:0:0:0:0-0:0:0 ¢

(4 U B)=1{4,5,6,8}
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Set0l Answers for No.11408

areal ={2,5,6,10,12} 04 A B)=1 n(A4 U B)=9

Ansl=| 1= arefz};eiz{?{f}ll} L 2=| n(4-B)=5 n(U-(4 U B))=2
aread = (4,9} n(B-4)=3 Math@MUT
”rwlzz{fﬁ’;ﬁl}” n(d N B)=2  n(4 U B)=9
Ans2=| 1= areas =112 2= n(4-B)=4 n(U-(4 U B))=6

area3 ={4,8,15}

aread =1{5,6,9,10, 11, 16} n(B-4)=3 Math@MuT
T areal = { } ] 1
area? = {15} n(intersect(4, B, C))=0 n(4d-B)=3
area3 = {3, 18} n(union(4, B, C)) =8 n(B-4)=2
nsi=| 1= area4 = {5,10, 13} . n(4d N B)=1 n(C N (4 U B))=3
' area5=1{} e n(B N C)=0 n(C U (4 N B))=6
areab = { } n(4d v C)=6 n(intersect(4, B, C)) =18
area7 = {6, 8} n(Bu C)=8 Math@MUT
L Larea8 = {4,7,9, 11,12, 14,16, 17, 19,20} | i
4 U B={4,7,9,13,14} [ d=(4A N B={areal}) l
o AN B={9,13, 14} 2=(A'~B'= {area3})
4 v B=135,6, 83 9,10, 11, 12,13, 14} 3=((4 n B)': {areal, area3, area4})
B nA={47T} 4=(4 n C={area4, aread})
Ans4 = A-B={} , Ans5 = S=(B U (4 n C)={area2, area3, aread, areas, area6 })
B -A= {3,5,6,8,10, 11, 12} 6=((4 v B) n (B v C)={area2, area3, area4, area’s, area6 })
(4 U B)=1{3,5,6,8,10,11,12} 7=((B-4) n (B-C)={areal3})
A N B= {3,5,6,8,10, 11, 12} 8= (A’ U B'= {areal, area3, area4, area6, area7, area8})
_(A—B)':{3,4, 5,6,7,8,9,10,11,12,13, 14} L .9:(3’ N (C—A)/:{areal,area4, area8}) |
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areal = {5,6,7

}

n(4d N B)=3 n(4 U B)=8
Ansl =| 1= “;f:a23‘_{{01’03’1121}} 2= n(4-B)=3 n(U-(4 U B))=5
aread = (1,2, :‘, 8.9 n(B-4)=2 Math@MUT
area]:{22,f,10,914, 15} nA  B)=2 n(A U B)=9
Ans2=| 1= Z;ZZS;§§8§ 2= n(4-B)=5 n(U-(4 U B))=6
aread = {1,4,5,11,12, 13} n(B-4)=2 Math@MuT
[ areal = {3, 11} ] T
area? = {7} n(intersect(4, B, C)) =0 n(4A-B)=5
area3 = {6} n(union(4, B, C)) =11 n(B-4)=3
dnsi=| 12 aread = {10, 13,16} P n(4d N B)=1 n(C N (4 v B))=5
' area5=1{} " n(B N C)=2 n(C U (4N B)=38
areab={4,9} n(4 v C)=10 n(intersect(A4, B, C)/):IS
area7 = {8, 14} n(Bu C)=9 Math@MUT
L Larea8 = {5, 12, 15,17 } | i
[4 U B=(3,5,8,9,10, 11,12, 13} r d=(4 N B={area2})
' 40 B=1{9} 2=(4-B = {area2})
AV B={4,56,7,89,11,13} 3=(A-B) N (B-A)={})
B N A={3,1012} 4=(A4 N B={area2, area5})
Ans4 = A-B={5,8,11,13} . AnsS = S=(B v (4 n C)={area2, area3, aread, areal, area6 })

B -A=1{4,6,7}
(4 U B)=1{4,6,7}
A N B={4,67}

6=((4 v B) n (B v C)={area2, area3, area4, area’, area6 } )
7=((C—-4) v (C-B)={area4, areab, area7 })
.8=(B’ N C= {areal, area8 })

(A4-B)=1{3,4,6,7,9,10,12}

9=(C n (B—A)rz {aread, area5, area7})

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢
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Set0l Answers for No.11806

areal = {11,12}
area? = {5,6}
area3=1{17,8, 14}
area4 = {4,9, 10, 13}
areal = {3,5,10, 14, 15}

n(d N B)=2 n(d4d v B)=7
,.2=| n(4-B)=2 n(U-(4 v B))=4
n(B-4)=3 Math@MUT

Ansl =| .1 =

n(d N B)=2  n(4 U B)=9

Ans2=| 1= Z:szizi 2= n(4-B)=5 n(U-(4 U B))=4
aread = {7, 11,12, 13} n(B-4)=2 Math@MUT
[ areal = {4, 12} i l
area? = { } n(intersect(4, B, C)) =2 n(4d-B)=2
area3 = {5} n(union(4, B, C))=9 n(B-4)=3
nsi<| 1< aread = { } P n(d N B)=2 n(C N (4 U B))=4
‘ area5={7,14} |- n(B N C)=4 n(C U (4 N B))=6
area6 = {10, 13} n(4 v C)=8 n(intersect(A4, B, C)') =11
area7 ={2,9} n(Bu C)=7 Math@MUT
L Larea8 = {3, 6,8, 11} ] ]
A v B=1{3,56,7,8,9,10,11} ¥ =(A': {area3, aread})
) AnB={} .2=(B'—A={area4})
4V B=1{3,4,5,69,10,12,13} 3=((A-B) U (B—A4)={areal,area3})
BnA4={723811} 4=(B n C={areal, areab})
Ans4 = A-B=1{3,5,6,9,10} , Ans5= S=(C v (A n B)={area2, area4, areas, areab, area?7})
B -A= {4,12,13} 6=((4 v C) n (B C)={area2, area4, area5, areab, area7})
(4 U B)=1{4,12,13} 7=((4-B) n (4-C)={areal })
A N B= {4,12,13} 8= (A’ U C= {areal, area2, area3, area6, area7, area8})
Ll (4-B)=1{4,7,8,11,12,13} | L 9=(4 N (B—C)':{areal,area4,area5}) ]
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Set0l Answers for No.12219
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00201

areal = {3, 11}
area2 =1{5,7,8}

Ansl =\ =l a3 = (4,9, 10} P2~
area4 = {6,12,13}
areal = {5,10}
ns2—| 17— area = {16}

area3=1{4,7,8}
aread = {3,6,9,11,12,13, 14, 15
areal = {8, 18} i
area? = {10}
area3 =1{2,3,6,13, 14}
aread ={ }
aread={ }
areab = {16}
area7 ={1,9, 11}
L Larea8 = {0,4,5,7,12,15,17,19}
AU B={01,3,4579} |
A4~ B={0,1,9}

AU B={0,1,2,46,80910}
B A={357}
A-B={4}

B -A4=1{2,6,8,10}

(4 U B)={2,6,8,10}

A4 N B={26810}

Ans3 =| .1 = ,.2 =

Ans4 = , Ans5 =

n(4 N B)=3 n(4d U B)=8
n(4-B)=2 n(U-(4 v B))=3
n(B-4)=3 Math@MUT
n(4d N B)=1 n(d U B)=6
,.2=| n(4-B)=2 n(U-(4 U B))=38
| n(B-4)=3 Math@MUT
n(intersect(4, B, C)) =0 n(d-B)=2
n(union(4, B, C)) =12 n(B-A4)=6
n(4 N B)=1 n(C N (4 U B))=1
n(Bn C)=1 n(CuU(4n B))=5
n(d v C)=7 n(intersect(4, B, C)) =20
n(B v C)=10 Math@MUT

A=(A4 n B={areal})
2=(B-A'={area2})
3=(4-B) n (B-4)={1})
4= (A/ = {area3, areab, area?7, area8 })
S=(B N (4 v C)={area, areal, areat })
6=((4 N B) U (B n C)={area2, areas, areab})
7=((B-4) n (B-C)={area3})
8= (B’— C= {aread, area?7 })

[(4-B)=1{0,1,2,3,5,6,7,8,9,10} ] L
):9:9:0.:9:9:9:9.9:9.:9:0.9:9.:0:0.9:0:0:0.9:9.:9:0.9:9.9:0.0:9.0:0.0:0:0:0.9:9:9:0.0:9:9:0.0:9.0:0.0:9.0:0.0:0.0:0.0:0.0:0.0.9.0:0.0:0.0:0.0:0.0:0.0:9.0:0.0:0.0:0.0:9.0.0.0:9.9:0.0:0:0:0.0:0.0:0.0:0.0:0.0:0.9:0.0:0.0:0.0:0.0:0.0:0:9:9.0:0.9.9:0.:0.9.:9:0:0.9.9:0:0.9.0.0.0:¢

9=(B N (A—C)': {area3, area$5, area6 })
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Set0l Answers for No.12809

areal = {3,9, 10} nd N B)=1 n(duU B)=6

Ansl =| 1= a;‘gjiz:{{lj‘;} 2= n(4-B)=3 n(U-(4 U B))=6
aread =1{2,5,6,8, 11,12} n(B-4)=2 Math@MUT
areal = {4,9, 12} n(4 N B)=3  n(4 U B)=7
Ans2=| 1= ”re;’fe;{f’{lg’gs} 2= n(4-B)=3 n(U-(4 U B))=6
aread = {5,6,7, 11, 14,16} n(B-4)=1 Math@MUT
[ areal = {13} ) i
areal = {2} n(intersect(4, B, C))=0 n(4A-B)=4
area3 = {7} n(union(4, B, C)) = 10 n(B-A)=2
msi—| | areat=taniizy | n(d n B)=1 n(C N (40U B))=4
areas = { } i n(B N C)=1 n(Cu (4 nB))=8
area6= {14} n(d U C)=9 n(intersect(4, B, C)) = 15
area7 = {5,8,10} n(Bu C)=9 Math@MUT
L Larea8 = {3,6,9, 15,16} ]
[ 40U B=1{4,57,9,11,12,13,14,15,16} | r 1=(4 A B={area2}) 7
4 N B={51115} 2=(B-A={area3})
AU B= {3,4,5,6,8,10, 11,12, 13, 15,16} 3=((A-B) U (B-A)={areal,area3})
B A={79,14} 4=(C = {areal, area2, area3, area8 })
Ansd = A-B={4,12,13,16} . Ans5 = S=(B v (4 n C)={area2, area3, aread, areal, area6 })
B-A= {3,6,8,10} 6=((4 U B) n (B v C)={areal, area3, area4, areal, area6 })
(4 U B)=1{3,6,8,10} 7=((C-4) n (C-B)={area7})
A N B = {3,6,8,10} 8= (A' U B'= {areal, area3, aread, area6, area’, area8})
| (4-B)=1{3,5,6,7,8,9,10,11,14,15} | L 9=((B-C) - A= {area6, area7, area8}) |
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Set0l Answers for No.12954

areal = {3,4,6,9}

areaZ— (1213} n(4 ~n B)=2  n(4 U B)=8

Ansl =| .1 = 2= n(4-B)=4 n(U-(4 U B))=5
area3=1{2,5} _
aread={1,7,8,10, 11} n(B-4)=2 Math@MUT
”re”;f{{;’gng’ 1140}} nd N B)y=4  n(d U B)=9
Ans2=|.1=| TS ,.2=| n(4-B)=3 n(U-(4 U B))=6

area3 =1{6,11}

aread = 10,1,2,3, 4,12} n(B-d4)=2 Math@MUT
i areal = {2,7} ) i
area2 = {11} n(intersect(4, B, C)) =0 n(4-B)=3
area3 = {4,5,6,9,10, 12} n(union(4, B, C)) =12 n(B-4)=6
dnsi<| 12 aread = {16} e n(4d N B)=1 n(C N (4uvB))=1
areas = { } i n(B N C)=0 n(Cu (4 nB))=4
area6={ } n(d U C)=6 n(intersect(4, B, C)) =17
area7 = {13, 15} n(B v C)=10 Math@MUT
L L area8=1{0,1,3,8,14} | ]
4w B={0,1,6,7,11} i A =(A v B={areal, area2, area3})
, 4N B=1{16; 2=(B —A4'={areal})
A v B={1,2,3,45,6,8,9,10,11,12} 3=((A4-B)n (B-4)={1})
BN A=1{0,7} A4=(A4 N B={area2, area5})
Ansd = A-B={11} . Anss = S=(C U (A4 n B)={area2, area4, areas, areab, area?7 })
B-A= {2,3,4,5,8,9,10, 12} 6=((4 v C) n (B U C)={area2, aread, areas, areab, area7 })
(4 v B)': {2,3,4,5,8,9,10, 12} 7=((A4-B) U (A-C)={areal, area2, area4})
4 A B'=1{23,452891012} 8= (A4 - B = {area3, areat })
(4-B)=1{0,1,2,3,4,5,6,7,8,9,10, 12} | L 9=(4 N (C-B) = {areal, area2, areaS }) J
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DGRV ERRNCIVIVEND’'0:0:0:0:0:0:0.6:0:0.0:0:0:0:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0.:0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0:0.0:0:0.6:0.0.0:0.0:0:0.0:0.0:0:0.0.0.0.0.0.0:0.0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:6:0.0 ¢ | : WAL T T LN RO N 010 J0 12355704
Set0l Answers for No.12964

areal = {11, 12} nd N B)=2  n(4du B)=5

Ansl =| 1= “re“Z;_{Z’;i} 2= n(4-B)=2 n(U-(4 U B))=6
aread :ar{e; 4.5.6.9.10) nB-4)=1 Math@MUT
areal = {8, 10} n(d N B)=1 n(duU B)=6
Ans2=| 1= area“;ri“ffl!{:z}: 3) ,2=| n(4-B)=2 n(U-(4 U B))=8
aread = {4,5,6,9, 14, 15, 16, 17} n(B-4)=3 Math@MUT
i i areal = {6,8, 11} i i
area? = {12, 15} n(intersect(A4, B, C))=0 n(d-B)=4
area3 ={2,9,10, 13} n(union(4, B, C))=13 n(B-4)=5
nsi<| 12 aread = {3} e nd N B)=2 n(C N (4 v B))=2
area’ = { } i nBnNC)=1 n(Cu (4 nB))=6
area6 = {5} n(d4 v C)=9 n(intersect(4, B, C) ) =15
area7 = {1,4} n(B u C)=10 Math@MUT
L area8=1{7,14} | i
(4 U B=1{4,5,6,7,8,9,10, 11,12, 13} | r 1=(4 N B={area2}) T
4 N B={11,12,13} 2=(A'~B={areas})
A v B={3,6,8,10,11,12,13, 14} 3=((4 U B)’: {aread})
B mA'={4,5,7,9} 4=(A n C={aread, areas})
Ans4 = A-B=16,8,10} , Ans5 = S5=(C n (4 v B)={aread, areal, area6 })
B -A= {3,14} 6=((4 N C) v (B n C)={aread, areas, areab})
(4 v B)’: {3, 14} 7=(B—-4) v (B-C)={area2, area3, areab })
A n B'={3,14} 8=(4 U C'={areal, area2, area3, areab, area’, area8 })
_(A—B)':{3,4,5,7,9,11,12,137 14} | L .9:((C—B)’—A’:{areal,areaZ,areaS}) i
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Set0l Answers for No.12971

areal = {4,6,8}

area? ={ } n(4 N B)=0 n(d U B)=17

Ansl =| .1 = ,.2=| n(4-B)=3 n(U-(4 v B))=4
“;f:; - { {02” 15”37’, 190}} n(B-A)=4 Math@MUT
arfgaf{:z{?bgfa} ndnB)=3  ndvB)=9
Ans2 =| .1= area3:{3,’5,1’1,12}"2: n(4d-B)=2 n(U-(4 v B))=4
aread = 16,7, 8,14} n(B-4)=4 Math@MUT
[ [areal ={3,9,12,14,15,16}] ]
area? = { } n(intersect(4, B, C)) =0 n(Ad-B)=7
area3 = {8, 10, 13} n(union(4, B, C))=13 n(B-4)=3
nsi=| 1= aread = {4} e n(4 N B)=0 n(C N (4 U B))=1
areas = { } ’ n(B N C)=0 n(C U (4 N B))=4
areab = { } n(4 v C)=10 n(intersect(4, B, C) )= 15
area7 = {5,6,11} n(Bu C)=7 Math@MUT
L L area8=1{2,7} ] ]
A v B=1{2,4,57,9,10,11, 14,15} [ 1= (B = {areal, aread}) ]
' A4 N B=1{9,10} 2=(B-A={area3})
AV B={2,3,4,56,8,9,10,12,13,14,15} 3=((4 N B) = {areal, area3, aread} )
Bnd= 17,113 4=(4 v C={areal, areal, area4, areal, areab, area7 })
Ans4 = A-B=1{2,4,514,15} , AnsS = S=(B N (4 v C)={area2, areal, areab})
B—4= {3,6,8,12,13} 6=((4 N B) U (B n C)={areal, area5, areab })
(4 v B)': {3,6,8,12,13} 7=((C-4) v (C-B)={aread, areab, area7 })
A N B= {3,6,8,12,13} ,8=(A’ N C= {area3, area8 })
L (A—B)':{3, 6,7,8,9,10, 11, 12,13} | L .9:(8' N (A—C)’:{area4, area7, area8}) ]
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Set0l Answers for No.13023

areal = {5,10, 12} N4 ~ B)=2 n(A4 U B)=6

Ansl =| 1= “Zerii;_{?ﬁ} 2= n(4-B)=3 n(U-(4 U B))=7
aread={1,2,6,7,9, 11,13} n(B-4)=1 Math@MUT
areal :2{3’{3}8} n(d N B)=0  n(4 U B)=9

Ans2=| 1= areds= 2=| n(4-B)=3 n(U-(4 U B))=5

area3=1{6,7,9,10,12,13} [~

aread = 1{1,4,5, 11, 14} n(B-4)=6 Math@MUT
[ areal = {8, 10, 12} ] ]
area? = { 13,18} n(intersect(A4, B, C)) =0 n(4d-B)=4
area3 =1{3,7} n(union(4, B, C)) = 10 n(B-A4)=3
sl 1 aread = {11} S n(4 N B)=2 n(C N (40U B))=2
area’ = { } i nB N C)=1 n(Cu (4 nB))=5
area6 = {4} n(d u C)=38 n(intersect(4, B, C) ) =17
area7 = {17} nBu C)=7 Math@MUT
| larea8=12,5,6,9,14,15,16} |
I AU B=1{56,7,8,11,12,14,16} i [ 1=(B = {areal, aread ) i
4N B=1{638,12} 2=(4-B = {area2})
4V B=1i4, §> 7,8,9,10,12,13,15} 3=0(4 n B)'= {areal, area3, area4})
B nA={51114,16} .4:(B,= {areal, area4, area7, area8 })
Ansd = A-B={7} , Ans5 = S5=(C n (4 v B)={area4, areal, areat } )
B'—A4=1{4,9,10,13,15} 6=((4 n C) v (B n C)={aread, area’, areab })
(4 v B)’: {4,9,10,13,15} 7=((A4-B) U (A-C)={areal, area2, area4})
A~ B'={4,9,10, 13,15} .8=(C —B'= {area2, area3})
L(A-B) =1{4,5,6,8,9,10, 11, 12, 13, 14, 15, 16 } L .9=(C n (B-A4) = {areal, area2, area8}) |
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Set0l Answers for No.13033

areal = {4,6,15}

area2— ) (n(4 ~ B)=0 n(d U B)=9
Ansl =\ .1= - ,.2=| n(d-B)=3 n(U-(4 U B))=4
area3 =1{5,7,10, 11,12, 14} _
] wreat— (3.8.0.13; | LnB=4)=6 Math@MUT ]|
areal =13, 6; 1,0{3‘2} 16,173 (4 A B)=1  n(4 U B)=9
Ans2=| 1= ar:;j“_ {‘13 14} ,2=| n(4-B)=6 n(U-(4 U B))=5
i aread=1{7,8,9, 11,15y | -nB-A)=2 Math@MUT |
i areal = {4,7,16} | |
area? = {12} n(intersect(4, B, C))=1 n(d-B)=5
area3 ={0,1,2,13} n(union(4, B, C)) =11 n(B-4)=4
nsi<| 12 aread = {11, 15} /. n(4d N B)=2 n(C N (4 v B))=3
3= areas = {5} i n(Bn C)=1 n(C U (4N B))=4
area6 = { } ndu C)=7 n(intersect(4, B, C)) =16
area7 = { } n(Bu C)=8 Math@MUT
L Larea8 = {3,6,8,9, 10, 14} ]
A v B={2,3,4,5,6,11,12,13,16} [ 1 =(A' = {area3, aread}) 7
, 4N B={3,5} 2=(A-B={areal})
A v B=1{2,3,4,571,8,9,10,11,13,14,15} 3=((A4-B) U (B-A4)={areal, area3})
B nA4={6,1216} 4=(4 v C={areal, areal, area4, areal, areab, area7 })
Ansd = A-B=1{2,4,11,13} , AnsS = S=(B n (4 v C)={area2, areal, areab})
B-A= {7,8,9,10, 14,15} 6=((4 N B) U (B n C)={area2, areas, area6 })
(4 U B)=1{7,8,9,10, 14,15} 7=((B-4) v (B-C)={area2, area3, areat })
A N B= {7,8,9,10, 14,15} 8=(B v C ={areal, area2, area3, aread, area’, areas })
L (4-B)'=1{3,5,6,7,8,9, 10, 12, 14,15, 16} | L 9=((4-B) - C ={area5, areab, area? }) i
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Set0l Answers for No.13061

areal = {3,8,11,12}

area2 = {4,6) n(4 N B)=2 n(4 U B)=8

Ansl =| .1 = ,.2=| n(4-B)=4 n(U-(4 U B))=4
ar‘(’; eji ; 1{’25”17? }9 \ n(B-A)=2 Math@MUT
areal = {4, 16} n(d N B)=1 n(4du B)=7
Ans2=| 1= areairza~{28f9{,ll34};15} 2= n(4-B)=2 n(U-(4 U B))=6
aread = {5,6,7,10, 11,12} n(B-A)=4 Math@MuT
[ areal = {4} ] i
area? = {13} n(intersect(4, B, C)) =1 n(4d-B)=3
area3 = {14} n(union(4, B, C)) =10 n(B-4)=2
nsi<| 1< aread = {1,10} . n(d N B)=2 n(CnNn(4v B))=4
aread = {2} ’ n(B N C)=2 n(Cu (4N B))=8
areab = {3} n(4 v C)=9 n(intersect(4, B, C)') =14
area7 = {6,8,11} n(Bu C)=9 Math@MUT
L Larea8 = {0,5,7,9, 12} ]
40 B={0,1,2,4,5810} | | 1 =(B' = {areal, area4}) |
40 B={1,258} 2=(4'-B'={area3})
A v B={12, ;ﬁ, 5,6,7,8,9,10} 3=((4 U B)’: {aread})
B N A4={0,4; ,4=(C’: {areal, area2, area3, area8 })
Ansd = A4-B={10} , Ans5 = S5 =(C v (4 n B)={area2, area4, area$, areab, area?7 })
B-A= {3,6,7,9} b6=((4 v C) n (B v C)={area2, area4, area5, areab, area7 })
(4 U B)=1{3,6,7,9} 7=((B-A4) n (B-C)={area3})
A N B={3,6709)} 8=(C -4 ={areal, area2})
_(A—B),:{O, 1,2,3,4,5,6,7,8,9}] L 9=(4 n (B—C)rz{areal, area4, area5 }) i
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Set0l Answers for No.13063

areal = {2,4,9}

area2= {3.7.12) n(4 n B)=3  n(4 U B)=8

Ansl =| .1 = ,.2=| n(4-B)=3 n(U-(4 v B))=4
are:f:“z 5‘ é’l’lg,} " n(B-A4)=2 Math@MUT
areal = {10, 14, 16 } n(A A B)=2 n(d U B)=6
Ans2=| .1 = “;f:j;_{fl’lg}} L 2=| n(4-B)=3 n(U-(4 U B))=9
aread = {5,6,7,8, 12,13, 15,17, 18} n(B-A)=1 Math@MUT
[ areal={} ] i
area? = {5} n(intersect(4, B, C)) =0 n(4d-B)=2
area3 ={7,11} n(union(4, B, C))=9 n(B-4)=3
nsi=| 1= aread = {8,9} e n(4d N B)=1 n(C N (4 U B))=3
area5={ } ’ nBnNnC)=1 n(Cu (4 nB))=7
area6 = {1} ndu C)=7 n(intersect(4, B, C)) =13
area7 ={3,12,13} n(B v C)=9 Math@MUT
L Larea8 = {2,4, 6,10} ]
AU B={2,4,57,810,12} | i d=(A N B={area2}) 7
AN B={57} 2=(A - B ={area3})
Av B={1,3,45,6,7,911,12} 3=((4 U B) = {aread})
BndA= {2,8,10} 4=(A v B={areal, areal, area3, area4, area5, area6 } )
Ans4 = A-B=1{4,12} , Ans5 = S=(4 v (B n C)={areal, areal, aread, areal, area6 })
B —A= {1,3,6,9,11} 6=((4 v B) n (4 v C)={areal, areal, area4, area’s, area6 })
(4 U B)=1{1,3,6,9,11} 7=((A-B) n (A-C)={areal })
A N B={1,3,60911} 8=(A'—B = {area3, area6})
_(A—B)':{ljz, 3,5,6,7,8,9,10, 11} L 9=(B N (C—A)’:{areaZ,areaS, areal}) |
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Set0l Answers for No.13064

areal = {14} nd N B)=2  n(4du B)=5
Ansl =| .1 = Z;ZZ?:? }(z)i 2= n(4-B)=1 n(U-(4 U B))=8
Laread = {4,5,8,9, 11,13, 15, 16} nB-4)=2 Math@MUT
areal = {2,6,7,12} n(A ~ B)=3 n(A U B)=7
Ans2=| 1= ‘”wz:;i’?’}“} ,.2=| n(4-B)=4 n(U-(4 U B))=5
i area4a=re{a3,;, 8,9,10} n(B-4)=0 Math@MUT
[ [ areal = {7} ] T
area? = { } n(intersect(4, B, C)) =1 n(4-B)=3
area3 = {4,9} n(union(4, B, C)) =10 n(B-A4)=4
dnsi=| 12 aread = {12,13} gz n(4d N B)=1 n(C N (4 v B))=5
areas = {11} ’ n(B N C)=3 n(Cu (4 nB))=7
area6 = {6, 10} n(4 v C)=8 n(intersect(A4, B, C)/) =13
area7 = {8, 14} n(Bu C)=9 Math@MUT
L Larea8 = {5, 15, 16, 17 } | i
AU B=1{4,56,9,1011,12,14} ] [ A=(4 N B={area2}) ]
/ 4 n B={11,14} 2=(A-B={areal})
A v B={4,56,7,8,10,11,12,13, 14} 3=(4 N B ={aread})
BN A= {9} 4=(A4 v C={areal, area, area4, area$, areab6, area?7})
Ansd = A-B=1{4,5,6,10,12} , Ans5 = S5=(A4 n (B v C)={area2, aread, areas})
B -A= {7,8,13} 6=((4 N B) v (4 n C)={areal, aread, areal })
(4 U B)=1{7,8,13} o 7=((B-4) n (B-C)={area3})
A N B= {7,8,13} .8=(A4 U B ={areal, area3, area4, areab, area?, area8 } )
L (A-B)=1{7,8,9,11, 13, 14} ] L 9=(4 n (C—B)rz{area],areaZ,area5}) ]
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Set0l Answers for No.13065

areal = {1,5,9,12} n(A A B)=2 nA U B)=7

Ansl =| 1= “Zerii;_{?ﬁ} 2=| n(4-B)=4 n(U-(4 U B))=6
aread=12,3,7,10, 11, 13} n(B-4)=1 Math@MuT
areal :Z{il,{Sl,07,183:}11} n(A A B)=2 (4 U B)=8
Ans2=| 1= “rjfea;_{l’4} ,2=| n(4-B)=5 n(U-(4 U B))=4
areat = {6,9, 12, 15) n(B-A)=1 Math@MUT
i areal = {4, 15} i i
area? = { } n(intersect(4, B, C)) =1 n(d-B)=5
area3 = {6,9, 11, 14} n(union(4, B, C)) =13 n(B-A)=4
3| g | areat=123.173 | n(d4d n B)=1 n(C N (40U B))=4
S areas={1} 7 n(B N C)=1 n(C U (4N B))=7
areab = { } n(4d v C)=9 n(intersect(4, B, C) )= 16
area7 = {5,10,13} n(Bu C)=11 Math@MUT
L Larea8=1{7,8,12,16} | ]
A U B={3,4,6,9,10,14,15,16,17} 1 [ 1 =(A4'= {area3, aread }) 1

A~ B=1{6,10,17}
AU B=1{5,671789,10,11,12, 13,15, 17}
B N A={34 1416}

2=(A' - B={aread})
3= (A' U B'= {areal, area3, area4 })

4= (A,= {area3, areab, area7, area8 })

Ansd = A-B=19,15; , Ans5 = S5=(C n (4 v B)={aread, area$, areat })
B'-A4={57,8,11,12,13} b6=((4 N C) v (B n C)={aread, area’, areab })
(4 v B)’: {5,7,8, 11,12, 13} J=((A4-B) U (A-C)={areal, area2, area4})
A~ B={57281112 13} 8=(B N C={areal, area8})
L(A-B) =1{3,4,5,6,7,8,10, 11, 12, 13, 14, 16, 17} L 9=((B—A) - C={areal, area2, area8}) i
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Set0l Answers for No.13197

areal ={0,1,9,10}

area? = { } n(4d N B)=0 n(4d U B)=9

Ansl =| .1 = ,.2=| n(A-B)=4 n(U-(4 U B))=4
“Z‘;‘Z 4‘:{ ?3475 861 ;1}} n(B-A)=5 Math@MUT
areal = {5, 13} n(d N B)=2  n(4 U B)=9
Ans2=| 1= are;;fi;yg 117}16} 2= n(4-B)=2 n(U-(4 U B))=6
aread = {4,6,9,12,15,17} n(B-A4)=3 Math@MUT
[ areal = {6} i |
area? = {8,10} n(intersect(4, B, C)) =1 n(4A-B)=3
area3 = {11} n(union(4, B, C)) =11 n(B-4)=2
ansi<| 12 aread = {12, 14} e n(4 N B)=3 n(C n (4 U B))=4
aread = {1} ’ n(B N C)=2 n(Cu (4N B))=9
areab = {2} n(4 u C)=10 n(intersect(4, B, C) )= 15
area7 =1{9, 13,15} n(B v C)=10 Math@MUT
L Larea8 = {3,4,5,7,16}] ]
4w B={1,4,6,8912} I AI:(Brz{area],area4}) 1
'A N B={4,6,8,9} .2:(A—B':{area2})
A v B={2, 3,4? 5,6,7,8,9,10, 11} 3=(4 N B'={areas})
B nA=1{112} 4=(A4 U B={areal, area2, area3, aread, area’, area6 })
Ans4 = A-B={} , Ans5 = S5=(C n (4 U B)={area4, area’, areab })
B —dA= {2,3,5,7,10, 11} O6=((4 N C) v (B n C)={aread, areal, areab })
(4 v B)’: {2,3,5,7,10, 11} 7=((B—-A4) v (B-C)={area2, area3, areab })
A4~ B'={2,3,571011} 8=(A4' - C = {area6, area’})
_(A—B),={1,2, 3,4,5,6,7,8,9,10,11, 12} L .9:((A—C)’—B:{area4, area7, area8 }) |
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Set0l Answers for No.13907

areal = {4} N4 N B)=4  n(d4uU B)=7
Ansl =| 1= mjf;{iszf},gz nA-B)=1 n(U-(4 U B))=4
mmjz{@7ﬁ1J3} n(B-4)=2 Math@MUT |
areal = {5, 12} n(d N B)=2  n(4d U B)=9
Ans2=| .1 = areal=1{3,4} | 5 | {A-B)=2 n(U-(4 U B))=5
area3=1{6,7,9,13, 14} n(B—A)=5 Math@MUT
area4 ={1,2,8,10, 11} -
[ areal = {1, 15} i
areal = {8} n(intersect(4, B, C)) =0 n(4d-B)=3
area3 = {4,12} n(union(4, B, C)) = 10 n(B-A4)=2
szl 1o aread = {11} S n(d N B)=1 n(Cn (40U B)=1
' area5=1{} e n(B N C)=0 n(C U (4N B))=6
area6={ } n(d U C)=38 n(intersect(4, B, C)) = 15
area7 = {5,6,13, 14} n(Bu C)=8 Math@MUT
L Larea8={2,3,7,9,10}] ]
A v B=1{3,4,6,7,8,10,11,12} i 1=(4 N B={area2})
' 40 B={8} 2=(4'-B'={area3})
4 v B={23,4,5,6,8911,12} 3=((A-B) U (B—A)={areal, area3})
Bn A= {7,10} 4=(4 v B={areal, area2, area3, area4, areal, areab } )
Ansd = A-B=1{3,4,6,11,12} . Ans5 = S=(C n (A v B)={aread, areal, area6 })

B -4=1{2,59}
(4 U B)=1{2,5,9}
A N B={2,509}
L (4-B)=1{2,5,7,8,9,10}

6=((4 N C) v (B n C)={aread, areal, areab })
7=((B-4) n (B-C)={area3})
.8:(C,—A’= {areal, area?})
L 9=(4 n (B-C) = {areal, aread, area5})

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢
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Set0l Answers for No.13975
areal = {7,10, 14}
area? = {4,12}

n(d N B)=2 n(4d v B)=7
,.2=| n(4-B)=3 n(U-(4 v B))=5
) n(B-4)=2 Math@MUT
1 n(4d N B)=0 n(4d v B)=9
,.2=| n(4-B)=6 n(U-(4 v B))=5
n(B-4)=3 Math@MUT |
n(intersect(4, B, C))=0 n(d-B)=4
n(union(4, B, C)) =10 n(B-4)=1

n(4d N B)=3 n(C N (4uUB))=1
n(B N C)=0 n(CuU (4 nB))=6
n(4 v C)=9 n(intersect(4, B, C)) = 14
n(B v C)=7 Math@MUT

Anst =\ .I= area3 = {6,15}
area4 = {5,8,9,11, 13
areal = {1,3,6,8,10, 1
R areal = { }
Ans2 =\ I=1 3= (712,13}
area4 =1{0,2,4,5,9}
[ [ areal={6,11,15} |
area = {3,7, 14}
area3 = {12}
o, area4 = {9} B
Ans3 =\ .1= areas = { } ,.2=
areab = { }
area7 ={2,5}
L Larea8 = {4, 8,10, 13} |

AU B=1{3,4,5,78, 11,13, 14}
AN B={}

AU B'={5,6,7,9,10,11,12,15}
B N A={3428,13, 14}
A-B=1{57,11}

B —-A4=1{6,9,10,12,15}

(4 U B)=1{6,9,10,12,15}
A n B'={6,9,10, 12,15}

Ans4 = , AnsS =

[(A-B)=1{3,4,6,8,9, 10, 12, 13, 14, 15} |

[Page = 0033]

A=(B= {areal, area4})
.2:(B'—A'={area1})
3=((4=B) N (B-4)={})
4=(C ={areal, area2, area3, area8})
S=(A4 n (B v C)={area2, area, areal })
O6=((4 N B) U (4 n C)={areal, aread, area5 })
J=((B—-4) n (B-C)={areal})
8=(4-B= {area3, area6})
.9=((C—A),—B:{area1, area4, aread8 })

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢
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Set0l Answers for No.13984

areal = {1, 4, 11} nd nB)y=1 n(4du B)=8
Ansl =| 1= are;;fz{;{;;,g} 2=| n(4-B)=3 n(U-(4 U B))=3
aread = 15,9, 101 n(B-A4)=4 Math@MUT ]
areal ={2,4, 13} n(d N B)=2 n(4d U B)=10
Ans2=| .1 = ar:;;fflf;?;}§7}9} 2= n(4-B)=3 n(U—-(4 U B))=4
areat = {0.6,7.11} n(B-4)=5 Math@MUT |
[ i areal = {15} ] ]
area? = {13, 14} n(intersect(A4, B, C)) =1 n(4-B)=3
area3 = {9, 10, 18} n(union(4, B, C)) =10 n(B-4)=4
nsi<| 1< aread = {7,8} e n(d N B)=3 n(Cn (4 v B))=4
areas = {19} i nB N C)=2 n(Cu (4 nB))=6
area6 = {12} n4d v C)=7 n(intersect(4, B, C)/) =16
area7 = { } n(Bu C)=9 Math@MUT
L Larea8 = {3,4,5,6,11,16, 17} J
4w B=1{4,506,8,9,12,13,15,16} [ A =(A4 v B={areal, area?, area3})
, 40 B={4} 2=(4A-B'={area2})
4V B={4,7,9,10,11,12, 14,17, 18 } 3=((A4-B) U (B-A)={areal, area3})
B A={5068131516} A4=(4 v C={areal, area2, area4, area5, areab, area7 })
Ans4 = A-B={9,12} . Ans5 = S=(4 v (B n C)={areal, area2, area4, area5, area6 })
B-A= {7,10,11, 14,17, 18} 6=((4 U B) n (4 v C)={areal, areal, aread, area’, area6 } )
(4 U B)=1{7,10,11, 14,17, 18} 7=((C-4) n (C-B)={area7})
A A B'=1{7,10,11,14,17,18} §=(4 N C={area3, area8 })
[(A—B) ={4,5,6,7,8,10, 11, 13, 14, 15, 16, 17, 18 } | L 9=(B N (4-C) ={area3, area’, areat }) _
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Set0l Answers for No.13991

areal = { }
area? ={3,9,11}
area3 = {5,13}
area4d = {1,2,4,6,7,8,10, 12}
areal = {5, 11,13}
area2 ={3,4,9}

n(4 ~ B)=3  n(4 U B)=5
,.2=| n(4-B)=0 n(U-(4 U B))=8
n(B-A4)=2 Math@MUT

Ansl =| .1 =

n(4d N B)=3  n(4 U B)=38

Ans2 =| .1 = ,.2=| n(4-B)=3 n(U-(4 v B))=3
a;’;ji‘{ {687? 3 } n(B-A)=2 Math@MUT
[ [ areal ={9,11,15,17} | l
area = { } n(intersect(4, B, C)) =1 n(4d-B)=5
area3 ={6,10} n(union(4, B, C)) =11 n(B-—A4)=3
nsi<| 12 aread = {12} . n(4d N B)=1 n(C N (4 v B))=3
aread = {2} ’ n(B N C)=2 n(C v (4 nB))=5
area6= {16} n(d4d U C)=9 n(intersect(4, B, C)) = 15
area7 ={3,7} n(Bu C)=7 Math@MUT
L Larea8 = {4, 5,8, 13, 14} i
4w B=1{3,5218,911,15,16} I AI:(sz{area3,area4}) 1
' 4N B={8} 2=(4-B={area2})
AV B={2345, 63 7,8,9,10,11, 12,13, 14} 3=((4 U B) = {aread})
B nA4={1516} 4=(B v C={area2, area3, aread, areal, areab, area?})
Ansd = 4-B={3,509,11} , AnsS5 = 5=(C U (A4 N B)={area2, aread, area’, area6, area?7})
B —A=1{2,4,6,7,10,12,13, 14} 6=((4 U C) n (B v C)={area2, aread, area5, areab, area7})
(4 U B)=1{2,4,6,7,10,12, 13, 14} 7=((A-B) n (4-C)={areal })
A N B'={2,4,6,7,10,12, 13, 14} 8=(4 n C={area3, area8})
L (4-B)=1{2,4,6,7,8,10,12,13,14,15,16} | L 9=(B N (C-A) = {areal, aread, area8}) ]
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Set0l Answers for No.14005

Ans4 =

X [Page 0036]

areal ={7,8,9,10,12}

rea2 = {11} n(d N B)=1 n(4 v B)=38
Ansl =| .1 = a“r;“3_‘{3 6y 27| nA-B)=5 n(U=(4 U B)=4
wread o 12,4513} n(B-A)=2 Math@MUT
areal = {6}811{%;1’ 13} n(d nB)=1  n(4u B)=8
Ans2=| 1= aferﬁg-h o) 2= n(4-B)=5 n(U—-(4 U B))=7
aread = {1,2,3,7,12, 13, 14} n(B-4)=2 Math@MUT
[ areal = {1,5} ] 1
area2 = {6, 8} n(intersect(4, B, C)) =1 n(4-B)=4
area3 = {11} n(union(4, B, C)) = 11 n(B—A)=1
szl - aread = { 14,17} 5. n(4 N B)=3 n(C A (4 U B))=3
mI= AT areas = {3} ol = n(B N C)=1 n(C U (4 N B))=8
areab = { } n(4 v C)=10 n(intersect(4, B, C)) = 16
area7 = {2,4,15} n(Bu C)=9 Math@MUT
L Larea8=1{7,9, 10,12, 13,16} ] ]
AU B=1{56810,11,12,14,16,17} | I = (B'= {areal, areat})
, AN B={8, 11,12} .2=(B'—A={area4})
AU B=1{4,57,8,9,11,12,13,15,16} 3=((A-B) A (B-A)={ 1)
B mA':{éa 10, 14,17} A4=(A4 n C={aread, area5})
A4-B={5,16} , Ans5 = S=(B v (4 n C)={area2, area3, aread, areal, area6 })

B -A=1{4,7,9,13,15}
(4 U B)=1{4,7,9,13,15}
A~ B'={47,9,1315}

L(A-B)=1{4,6,7,8,9, 10, 11, 12, 13, 14, 15, 17} ]

6=((4 v B) n (B v C)={areal, area3, aread, area’, area6 })
7=((B-4) n (B-C)={areal})
8= (A’ U C= {areal, area2, area3, areab, area7, area8 })
.9:(A’ N (B- C)': {areab, area?7, area8 })

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢
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Set0l Answers for No.10120

Ans4 =

X [Page 0037]

areal = {9, 11}

n(4 N B)=1 n(4 U B)=7
Ansl =| 1= areal = {3 } 2= n(4-B)=2 n(U-(4 U B))=6
area3 ={1,4,7,12} n(B-A)=4 Math@MUT
area4 ={2,5,6,8,10,13}
areal = (8,10} n(d n B)=5  n(4uU B)=8
Ans2=| .1 = areaZj{z,z,{9l,4l}l,l2} L 2=| n(4-B)=2 n(U-(4 U B))=4
areat ia{4, 6,13,15} n(8-A)=1 Math@MUT |
[ [ areal=1{1,3,8,9,14} | 1
area? = {12} n(intersect(4, B, C)) =0 n(4A-B)=6
area3 = {0} n(union(4, B, C)) =11 n(B-4)=2
nsi<| 1< aread = {6} I n(4d N B)=1 n(C N (4uvB))=2
' area5=1{} - n(B N C)=1 n(C U (4 N B))=5
areab = {7} n(4 v C)=10 n(intersect(4, B, C) )= 16
area7 = {5,15} n(Bu C)=6 Math@MUT
L Larea8 = {2,4,10, 11, 13} | i
A v B=1{0,2,3,4,5,6,10,12,13} v :(A’: {area3, aread })
40 B={2.13} 2=(B-A'={area2})
4 v B={0, 1’> 2,4,6,7,8,9,11,13} 3=((4 n B)'= {areal, area3, area4})
B N A4={351012} .4:(A,= {area3, areab, area7, area8 })
A4-B=10,4,6} , Ans5 = S=(B U (4 n C)={area2, area3, area4, areas, area6 })

B-A4={1,7,8,9,11}
(4 U B)=1{1,7,8,9,11}
A N B={1,7,80911}

[(A-B)=1{1,2,3,5,7,8,9,10, 11, 12, 13} |

6=((4 v B) n (B v C)={areal, area3, aread, area’, areat6 })
7=((C-4) v (C-B)={area4, areab, area7 })
8=(4 N B'= {area7, area8})
,9=((C—A)’—B= {areal, area4, area8})

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢
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